O | / O v “r | v L |
= 010-00-057
A (TR Air Valve Parts: Cap, Air Valve [.305-321, Black, 6061
\ T
\"%e 019-01-140 010-00-005
\‘ h\’)‘ ' Fastener: Custom (Metric): Socket Set Screw [M4 x .Tmm x 3mm], SST, Patchlock ;fﬁgHE}O Air Valve Parts: Core, "Eaton", Blue, low pressure
N < Wl EYELET SURFACE
“!9!!§;z§5552%
N ),
| (019-01-140) _AEZ/ BLue Hi-Tewp
(039-00-109)
039-00-10
O19-01-137 33?'n : Dgf nt [.21 TLG X .088 OD1 LHW
Set Screw [M4 x .7mm x 8mml Dog Point, Torx, Black, Patchlock pring. bete ' '
TOROUE - 010-01-002
TO CAM SHAFT AND Ball [Q 0.0938] Steel
BACK OFF 1/4 TURN
REFERENCE VIEW e Sorn =
Domp Adj Part: 2022 Nude 5, Clocking Plug, Remote Spring _
iz
7 :
039-00-377 (010-01-002)—7& 5 — ;iRZOUIEN,_LB
Spring: Torsion, 2014 Nude 3 Cable Remote ,/
019-01-164 019-01-197

019-01-070
Set Screw [M4 x . Tmm x 4mml, Flat Point, SS

REMOTE PULLEY

LOCTITE:
BLUE 243
| DROP

TORQUE :
102 IN-LB

210-30-129

Camshaft: 2022 Nude 5, CD Travel Adj, Cable Remote, 416 SS

210-24-906
Damp Adj Part: 2022 Nude 5, Lever, Rebound Adj

Fastener, Standard (Metric): Screw [M4 X 0.7 X 8mwm] Socket Flathead

210-30-152

Cam: 2022 Nude 5, Comp / Travel Adj, Low PA, Push-Lock

gREéSE: TEMP
LUE HI-TEM
P ) Bt

Ny

|/
G5\
“35! ;x*.’a#zeme
ﬁ, / THIS SIDE

Seals: O-Ring [7.5MM ID x [.5MM CS1 Metric, N-70, Static

?REASE: R
-G!AS HIN LAY
OF SLICK HONEY

IMPORTANT:
SEE SECTION A, SHEET 2
FOR WAVE SPRING ORIENTATION

(2
||
i
<>
-
-y
/jii7°ff:§E§;~

2

>/ Seals: O-R|ng [4TMMID x 1.5MM CS] Metric, N-70, Static

>/4Check [1.020D X 0.667 ID X 0.015 TH]
%ng;wave Smalley 23013

,c\ Retaining Ring: External, 13mm Shaft, Smalley VSM-13

EYELET
“////////,,/f

EYELET VOLUME SPACER

?REASE: R
‘ HIN LAY
OF SLICK HONEY

O-Ring [I1.8MM ID x 1|.5MM CS] Metric, N-70, Static

Adjuster Rod, Travel, 2022 Nude 5

Insert, O-Ring Retainer, 2014 Nude 3

?REASE: R
HIN LAY
OF SLICK HONEY

Eyelet, Base, 2014 Nude 3, 9mm Shaft

Seals: O-Ring [13MM ID x 1.5MM CS] Metric, N-70, Static

THIS DOCUMENT CONTAINS CONFIDENTIAL, PROPRIETARY INFORMATION
THAT IS FOX PROPERTY. DO NOT DISCLOSE TO OR DUPLICATE
FOR OTHERS EXCEPT AS AUTHORIZED BY FOX.

- PROPRIETARY-

Seals:O-Ring [(-032) .070 C.S. X 1.864 ID] Standard N674-70, Dynamic

Fastener: Standard (Metric) Set Screw [M4 x .7mm x Smm] Dog Point, SS

FOX Factory, Inc. Ph 831-768-1100

130 Hangar Way, Watsonville, CA 95076 USA Fox 831-768-9312

h Eyelet Assy: 2022 Nude 5
D" 808-17-411-KIT

2:1| |seeT 1 OF 2

~ ~




